#### Wiltshire Council

#### Council

#### **20 February 2024**

# **Council Tax Setting 2024/25**

### **Executive Summary**

This report sets out, in the complex format prescribed by law, the resolutions required from the Council to set the Council Tax for the year 2024/25.

A Cabinet decision was made on 12 December 2023 to approve the tax base of 194,423.87 band D equivalent households. A draft net budget requirement of £490.298m (which in order to fund a council tax requirement of £351.077m) gives a band D council tax, inclusive of the 2% Adult Social Care Levy for 2024/25 of £1,805.73.

Fire, Police and Town/Parish precepts are in addition to the Wiltshire Council basic Council Tax.

The main body of the report sets out the statutory calculations, and shows the Fire, Police and Town/Parish precepts for every parish in the Wiltshire Council Tax Area along with the total Council Tax figures.

# **Proposal**

That the Council approves the resolutions as set out within the report.

# **Reason for Proposal**

To meet the statutory requirement to set the Council Tax. The calculations are as defined by law, and the figures will change only if the budget proposal is amended.

Terence Herbert Chief Executive

**Andy Brown** 

**Deputy Chief Executive and Corporate Director of Resources** 

Lizzie Watkin

**Director Finance & Procurement (S151 Officer)** 

#### Wiltshire Council

#### Council

# 20 February 2024

# **Council Tax Setting 2024/25**

# **Purpose of Report**

1. The purpose of this report is to enable the Council to calculate and approve the Council Tax requirement for 2024/25.

# **Background**

- 2. The Localism Act 2011 requires the billing authority to calculate the council tax requirement for the year.
- 3. A decision was made in Cabinet to approve the 2024/25 Wiltshire Council tax base of 194,423.87 on 12 December 2023.

#### Wiltshire Council

- 4. The 2024/25 Local Government Finance Settlement set out central government's decision in respect of the core principle and package of flexibilities in respect of Council Tax for 2024/25. The principles and flexibilities that apply to Wiltshire Council are:
  - (a) Unitary authorities may increase the basic element (core principle) of the council tax with a threshold of 3.00% triggering a local referendum.
  - (b) Local authorities with the responsibility for adult social care have an additional flexibility on their council tax referendum threshold to be used entirely for adult social care. These local authorities will be able to increase the adult social care precept by a further 2% on top of the basic element (core principle).
- 5. At the Cabinet meeting on 6 February 2024, it was recommended that Wiltshire Council increase its basic element of the band D Council Tax by 2.99% for 2024/25 (2.99% for 2023/24).
- 6. It was also recommended at the same meeting that Wiltshire Council take up the additional 2.00% flexibility in respect of adult social care for 2024/25.
- 7. The total recommended increase to the average band D Council Tax for 2024/25 is therefore 4.99% (4.99% for 2023/24). This results in an average band D Council Tax of £1,805.73 for 2024/25 (£1,719.90 for 2023/24).
- 8. Since the Cabinet meeting on 6 February 2024, the precept levels of other precepting authorities have been received.

#### **Town & Parish Councils**

- 9. The 2024/25 Local Government Finance Settlement confirmed that no referendum principles would apply for Town & Parish Councils for 2024/25.
- 10. The Town & Parish Council Precepts for 2024/25 are detailed in Appendix C including the total of £32,726,540.10. The increase in the average band D Council Tax for Town & Parish Councils is 8.12% and results in an average band D Council Tax figure of £168.33 for 2024/25 (£155.69 for 2023/24).
- 11. Outstanding confirmation remains for one Parish Council following their meeting on 7 February 2024, and although there is not an anticipated change between the draft figure included for that parish and final, if a change in value is confirmed an update will be given at the Full Council.

#### Office of the Police & Crime Commissioner for Wiltshire & Swindon

- 12. The government for 2024/25 has set a capping level of a £13 increase on Band D council tax levels for all Police & Crime Commissioners.
- 13. The Office of the Police & Crime Commissioner for Wiltshire & Swindon met on 8 February 2024 and set their precept in respect of the Wiltshire area at £52,352,515 exclusive of a Council Tax Collection Fund surplus of £308,208. This results in a band D Council Tax of £269.27 for 2024/25. This represents an increase of £13.00 (5.07%) compared to £256.27 for 2023/24.

# **Dorset & Wiltshire Fire and Rescue Authority**

- 14. The 2024/25 Local Government Finance Settlement confirmed that Fire & Rescue Authorities may increase the basic element of the council tax by 2.99% on the amount of council tax in 2023/24 without triggering a local referendum.
- 15. Dorset & Wiltshire Fire and Rescue Authority met on 8 February 2024 and set their precept in respect of the Wiltshire area. The amount for their precept of the Wiltshire area is £16,905,156 exclusive of a Council Tax Collection Fund surplus of £101,548.
- 16. This will result in a band D Council Tax of £86.95 for 2024/25. This represents an increase of £2.52 (2.98%) compared to £84.43 for 2023/24.

#### **Conclusions**

- 17. The recommendations are set out in the formal Council Tax Resolution in Appendix A.
- 18. The Wiltshire Council element of the Council Tax is recommended to be increased as follows:

	2023/24 %	2024/25 %
Wiltshire Council (Basic Amount)	2.99	2.99
Wiltshire Council (Adult Social Care)	2.00	2.00
Total	4.99	4.99

19. If the formal Council Tax Resolution in Appendix A is approved, the total band D Council Tax will be as follows:

	2023/24 £	2024/25 £	Increase £	Increase
Wiltshire Council	1,719.90	1,805.73	85.83	4.99%
Office of the Police	256.27	269.27	13.00	5.07%
& Crime				
Commissioner for				
Wiltshire & Swindon				
Dorset & Wiltshire	84.43	86.95	2.52	2.98%
Fire and Rescue				
Authority (draft)				
Sub - Total	2,060.60	2,061.95	101.35	4.36%
Town & Parish	155.69	168.33	12.64	8.12%
Council (average)				
Total	2,216.29	2,330.28	113.99	5.14%

- 20. The Adult Social Care Precept will account for £260.28 of the 2024/25 Wiltshire Council Band D figure above (£225.88 for 2023/24).
- 21. These increases do not require a referendum.

#### **Risks Assessment**

22. A full risk assessment of the budget proposals has been provided to Cabinet on 6 February 2024 in the Budget 2024/25 & MTFS Report.

# **Equality and Diversity Impacts of the Proposal**

23. None have been identified as directly arising from this report, although equality and diversity impacts have been considered by officers and portfolio holders when preparing budget proposals.

#### **Financial Implications**

24. The financial implications are outlined in the report.

#### **Workforce Implications**

25. None have been identified as arising directly from this report.

# **Legal Implications**

26. The legal implications are outlined in the report.

# **Public Health Implications**

27. None have been identified as arising directly from this report.

#### **Environmental Implications**

28. None have been identified as arising directly from this report.

### Safeguarding Implications

29. None have been identified as arising directly from this report.

## **Options Considered**

30. The calculations are as defined by law, and the figures will change only if the budget proposal is amended and affects the council tax requirement.

## **Reasons for Proposals**

31. To meet the statutory requirement to set the Council Tax. The calculations are as defined by law, and the figures will change only if the budget proposal is amended.

# **Proposal**

32. That the Council approves the resolutions as set out within the report.

# **Terence Herbert Chief Executive**

# Andy Brown Deputy Chief Executive & Director of Resources

#### Lizzie Watkin

**Director of Finance& Procurement (S151 Officer)** 

Report Author: Sally Self, Chief Accountant, email: sally.self@wiltshire.gov.uk

#### **Background Papers**

The following published documents set out the statutory requirements and powers relevant to the subject of this report:

Local Government Finance Act 1992 Localism Act 2011

The Referendums Relating to Council Tax Increases (Principles) (England) Report 2024/25 as part of the final Local Government Finance Settlement

The following published documents have been referred to during the preparation of this report:

Wiltshire Council's Budget – Budget 2024/25 & MTFS report Council Tax Base 2024/25 Cabinet Decision 13 December 2023

#### Appendices:

Appendix A Wiltshire Council - Council Tax Resolution 2024/25

Appendix B Wiltshire Council - Council Tax Banding Schedule by Authority 2024/25

Appendix C Wiltshire Council - Town & Parish Precepts 2024/25

#### The Council is recommended to resolve as follows:

- 1. It be noted that on 13 December 2023 Cabinet met and approved:
  - (a) the Council Tax Base 2024/25 for the whole Wiltshire Council area as 194,423.87 [Item T in the formula in Section 31B(3) of the Local Government Finance Act 1992, as amended (the "Act")] and,
  - (b) for dwellings in those parts of its area to which a Parish precept relates as in the attached Appendix.
- 2. Calculate that the Council Tax requirement for the Council's own purposes for 2024/25 (excluding parish precepts) is £ 351,077,014.78
- 3. That the following amounts be calculated for the year 2024/25 in accordance with Sections 31 to 36 of the Act:
  - (a) £1,128,309,438.35 (Gross Revenue Expenditure including transfers to reserves, parish precepts and any collection fund deficit) being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(2) of the Act taking into account all precepts issued to it by Parish Councils).
  - (b) £605,285,111.25 (Gross Revenue Income including transfers from reserves, General Government Grants and any collection fund surplus) being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(3) of the Act.
  - (c) £523,024,327.10 (Net Revenue Expenditure including parish precepts) being the amount by which the aggregate at 3(a) above exceeds the aggregate at 3(b) above, calculated by the Council in accordance with Section 31A(4) of the Act as its Council Tax requirement for the year. (Item R in the formula in Section 31A(4) of the Act).
  - (d) £1,974.06 (Wiltshire Council band D tax plus average Town & Parish Councils Band D Council Tax) being the amount at 3(c) above (Item R), all divided by Item T (2 above), calculated by the Council, in accordance with Section 31B(1) of the Act, as the amount of its Council Tax for the year (including Parish precepts), as shown below:

| Band     |
|----------|----------|----------|----------|----------|----------|----------|----------|
| A        | B        | C        | D        | E        | F        | G        | H        |
| £        | £        | £        | £        | £        | £        | £        | £        |
| 1,316.04 | 1,535.38 | 1,754.72 | 1,974.06 | 2,412.74 | 2,851.42 | 3,290.10 | 3,948.12 |

(e) £32,726,540.10

(Aggregate of Town & Parish Council Precepts) being the aggregate amount of all special items (Parish Precepts) referred to in Section 34(1) of the Act (as per the attached Appendix C).

(f) £1,805.73

(band D Council Tax for Wiltshire Council purposes only) being the amount at 3(d) above less the result given by dividing the amount at 3(e) above by Item T (2 above), calculated by the Council, in accordance with Section 34(2) of the Act, as the basic amount of its Council Tax for the year for dwellings in those parts of its area to which no Parish precept relates, as shown below:

| Band     |
|----------|----------|----------|----------|----------|----------|----------|----------|
| A        | B        | C        | D        | E        | F        | G        | H        |
| £        | £        | £        | £        | £        | £        | £        | £        |
| 1,203.82 | 1,404.46 | 1,605.09 | 1,805.73 | 2,207.00 | 2,608.28 | 3,009.55 | 3,611.46 |

	1				1		ı	
0 117 0 1 1 1 000 4/05	Band A (£)	Band B (£)	Band C (£)	Band D (£)	Band E (£)	Band F (£)	Band G (£)	Band H (£)
Council Tax Schedule 2024/25	4 000 00				2 22 2 2 2			0.044.40
Wiltshire Council (inclusive of Adult Social Care Levy)	1,203.82	1,404.46		1,805.73		2,608.28		3,611.46
Office of the Police & Crime Commissioner for Wiltshire & Swindon	179.51	209.43		269.27	329.11	388.95		
Dorset & Wiltshire Fire and Rescue Authority	57.97	67.63		86.95		125.59		173.90
Town & Parish Council (Average)	112.22	130.92		168.33		243.14		
Total	1,553.52	1,812.44	2,071.36	2,330.28	2,848.12	3,365.96	3,883.80	4,660.56
Council Tax Charge by band per Parish/Town Council								
Aldbourne Parish Council	44.30	51.68	59.07	66.45	81.22	95.98	110.75	132.90
Alderbury Parish Council	42.53	49.61	56.70	63.79	77.97	92.14	106.32	127.58
All Cannings Parish Council	53.41	62.32	71.22	80.12	97.92	115.73	133.53	160.24
Allington Parish Council	57.81	67.45	77.08	86.72	105.99	125.26	144.53	173.44
Alton Parish Council	38.11	44.46	50.81	57.16	69.86	82.56	95.27	114.32
Alvediston Parish Meeting	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Amesbury Town Council	102.69	119.81	136.92	154.04	188.27	222.50	256.73	308.08
Ansty Parish Council	20.91	24.39	27.88	31.36	38.33	45.30	52.27	62.72
Ashton Keynes Parish Council	37.81	44.12	50.42	56.72	69.32	81.93	94.53	113.44
Atworth Parish Council	49.95	58.27	66.60	74.92	91.57	108.22	124.87	149.84
Avebury Parish Council	43.05	50.22	57.40	64.57	78.92	93.27	107.62	129.14
Barford St Martin Parish Council	33.02	38.52	44.03	49.53	60.54	71.54	82.55	99.06
Baydon Parish Council	36.64	42.75	48.85	54.96	67.17	79.39	91.60	109.92
Beechingstoke Parish Council	42.96	50.12	57.28	64.44	78.76	93.08	107.40	128.88
Berwick Bassett & W/Bourne Monkton Parish Council	32.88	38.36	43.84	49.32	60.28	71.24	82.20	98.64
Berwick St James Parish Council	16.00	18.67	21.33	24.00	29.33	34.67	40.00	48.00
Berwick St John Parish Council	38.08	44.43	50.77	57.12	69.81	82.51	95.20	114.24
Berwick St Leonard Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Biddestone Parish Council	51.74	60.36	68.99	77.61	94.86	112.10	129.35	155.22
Bishops Cannings Parish Council	41.48	48.39	55.31	62.22	76.05	89.87	103.70	124.44
Bishopstone Parish Council	17.95	20.95	23.94	26.93	32.91	38.90	44.88	53.86
Bishopstrow Parish Council	15.07	17.58	20.09	22.60	27.62	32.64	37.67	45.20
Bowerchalke Parish Council	20.31	23.70	27.08	30.47	37.24	44.01	50.78	60.94
Box Parish Council	74.97	87.47	99.96	112.46	137.45	162.44	187.43	224.92
Boyton Parish Council	11.56	13.49	15.41	17.34	21.19	25.05	28.90	34.68
Bradford On Avon Town Council	182.11	212.46	242.81	273.16	333.86	394.56	455.27	546.32
Bratton Parish Council	62.68	73.13	83.57	94.02	114.91	135.81	156.70	188.04
Braydon Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00

Chirton Parish Council

	1		Π		Τ		I	T
	Band A (£)	Band B (£)	Band C (£)	Band D (£)	Band E (£)	Band F (£)	Band G (£)	Band H (£)
Council Tax Schedule 2024/25			, ,			` `	` '	
Wiltshire Council (inclusive of Adult Social Care Levy)	1,203.82	1,404.46				2,608.28		
Office of the Police & Crime Commissioner for Wiltshire & Swindon	179.51	209.43	239.35		329.11	388.95		
Dorset & Wiltshire Fire and Rescue Authority	57.97	67.63	77.29			125.59	144.92	173.90
Town & Parish Council (Average)	112.22	130.92	149.63				280.55	
Total	1,553.52	1,812.44	2,071.36	2,330.28	2,848.12	3,365.96	3,883.80	4,660.56
Council Tax Charge by band per Parish/Town Council								
Bremhill Parish Council	21.95	25.61	29.27	32.93	40.25	47.57	54.88	65.86
Brinkworth Parish Council	30.70	35.82	40.93	46.05	56.28	66.52	76.75	92.10
Britford Parish Council	30.45	35.53	40.60	45.68	55.83	65.98	76.13	91.36
Broad Hinton & W/Bourne Bassett Parish Council	26.39	30.79	35.19	39.59	48.39	57.19	65.98	79.18
Broad Town Parish Council	24.58	28.68	32.77	36.87	45.06	53.26	61.45	73.74
Broadchalke Parish Council	46.23	53.93	61.64	69.34	84.75	100.16	115.57	138.68
Brokenborough Parish Council	17.43	20.34	23.24	26.15	31.96	37.77	43.58	52.30
Bromham Parish Council	53.77	62.74	71.70	80.66	98.58	116.51	134.43	161.32
Broughton Gifford Parish Council	32.67	38.12	43.56	49.01	59.90	70.79	81.68	98.02
Bulford Parish Council	27.77	32.40	37.03	41.66	50.92	60.18	69.43	83.32
Bulkington Parish Council	84.46	98.54	112.61	126.69	154.84	183.00	211.15	253.38
Burbage Parish Council	24.49	28.58	32.66	36.74	44.90	53.07	61.23	73.48
Burcombe Parish Council	38.17	44.54	50.90	57.26	69.98	82.71	95.43	114.52
Buttermere Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Calne Town Council	150.90	176.05	201.20	226.35	276.65	326.95	377.25	452.70
Calne Without Parish Council	14.48	16.89	19.31	21.72	26.55	31.37	36.20	43.44
Castle Combe Parish Council	23.32	27.21	31.09	34.98	42.75	50.53	58.30	69.96
Chapmanslade Parish Council	13.79	16.08	18.38	20.68	25.28	29.87	34.47	41.36
Charlton Parish Council	27.06	31.57	36.08	40.59	49.61	58.63	67.65	81.18
Charlton St Peter & Wilsford Parish Council	11.01	12.85	14.68	16.52	20.19	23.86	27.53	33.04
Cherhill Parish Council	36.74	42.86	48.99	55.11	67.36	79.60	91.85	110.22
Cheverell Magna (Great Cheverell) Parish Council	44.31	51.70	59.08	66.47	81.24	96.01	110.78	132.94
Chicklade Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Chilmark Parish Council	29.85	34.82	39.80	44.77	54.72	64.67	74.62	89.54
Chilton Foliat Parish Council	25.21	29.41	33.61	37.81	46.21	54.61	63.02	75.62
Chippenham Town Council	206.49	240.91	275.32	309.74	378.57	447.40	516.23	619.48
Chippenham Without Parish Council	87.17	101.70	116.23	130.76	159.82	188.88	217.93	261.52

50.20

58.57

66.93

75.30

92.03

108.77

125.50

Durrington Town Council

Office of the Police & Crime Commissioner for Wiltshire & Swindon       179.51       209.43       239.35       269.27       329.11       388.95       448.78         Dorset & Wiltshire Fire and Rescue Authority       57.97       67.63       77.29       86.95       106.27       125.59       144.92         Town & Parish Council (Average)       112.22       130.92       149.63       168.33       205.74       243.14       280.55	3,611.44 538.5- 173.90 336.60 <b>4,660.5</b> 0
Council 1 ax Schedule 2024/25         Wiltshire Council (inclusive of Adult Social Care Levy)       1,203.82       1,404.46       1,605.09       1,805.73       2,207.00       2,608.28       3,009.55         Office of the Police & Crime Commissioner for Wiltshire & Swindon       179.51       209.43       239.35       269.27       329.11       388.95       448.78         Dorset & Wiltshire Fire and Rescue Authority       57.97       67.63       77.29       86.95       106.27       125.59       144.92         Town & Parish Council (Average)       112.22       130.92       149.63       168.33       205.74       243.14       280.55	3,611.4( 538.5/ 173.9( 336.6) <b>4,660.5</b> (
Office of the Police & Crime Commissioner for Wiltshire & Swindon       179.51       209.43       239.35       269.27       329.11       388.95       448.78         Dorset & Wiltshire Fire and Rescue Authority       57.97       67.63       77.29       86.95       106.27       125.59       144.92         Town & Parish Council (Average)       112.22       130.92       149.63       168.33       205.74       243.14       280.55	538.5- 173.9 336.6 <b>4,660.5</b>
Dorset & Wiltshire Fire and Rescue Authority         57.97         67.63         77.29         86.95         106.27         125.59         144.92           Town & Parish Council (Average)         112.22         130.92         149.63         168.33         205.74         243.14         280.55	173.90 336.60 <b>4,660.5</b> 0
Town & Parish Council (Average) 112.22 130.92 149.63 168.33 205.74 243.14 280.55	336.60 <b>4,660.5</b> 0
	4,660.5
Total 1,553.52 1,812.44 2,071.36 2,330.28 2,848.12 3,365.96 3,883.80	156 28
	156 28
Council Tax Charge by band per Parish/Town Council	156 28
Chitterne Parish Council 52.09 60.78 69.46 78.14 95.50 112.87 130.23 1	100.20
Cholderton Parish Council 36.67 42.78 48.89 55.00 67.22 79.44 91.67 1	110.00
Christian Malford Parish Council 40.51 47.26 54.01 60.76 74.26 87.76 101.27 1	121.52
Chute Forest Parish Council 41.07 47.91 54.76 61.60 75.29 88.98 102.67 1	123.20
Chute Parish Council 34.58 40.34 46.11 51.87 63.40 74.92 86.45 1	103.74
Clarendon Park Parish Council         24.95         29.11         33.27         37.43         45.75         54.07         62.38	74.86
Clyffe Pypard Parish Council 19.03 22.20 25.37 28.54 34.88 41.22 47.57	57.08
Codford Parish Council 37.33 43.56 49.78 56.00 68.44 80.89 93.33 1	112.00
Colerne Parish Council 54.69 63.80 72.92 82.03 100.26 118.49 136.72 1	164.06
Collingbourne Ducis Parish Council 52.35 61.07 69.80 78.52 95.97 113.42 130.87 1	157.04
Collingbourne Kingston Parish Council 46.33 54.06 61.78 69.50 84.94 100.39 115.83 1	139.00
Compton Bassett Parish Council 46.53 54.28 62.04 69.79 85.30 100.81 116.32 1	139.58
Compton Chamberlayne Parish Council 30.16 35.19 40.21 45.24 55.29 65.35 75.40	90.48
Coombe Bissett Parish Council 23.59 27.53 31.46 35.39 43.25 51.12 58.98	70.78
Corsham Town Council 164.81 192.28 219.75 247.22 302.16 357.10 412.03 4	494.44
Corsley Parish Council 28.80 33.60 38.40 43.20 52.80 62.40 72.00	86.40
Coulston Parish Council 31.88 37.19 42.51 47.82 58.45 69.07 79.70	95.64
Cricklade Town Council 155.44 181.35 207.25 233.16 284.97 336.79 388.60 4	466.32
Crudwell Parish Council 20.16 23.52 26.88 30.24 36.96 43.68 50.40 (	60.48
Dauntsey Parish Council 59.28 69.16 79.04 88.92 108.68 128.44 148.20 1	177.84
Devizes Town Council 138.13 161.15 184.17 207.19 253.23 299.27 345.32 4	414.38
Dilton Marsh Parish Council 30.07 35.08 40.09 45.10 55.12 65.14 75.17 9	90.20
	108.42
	102.02
	82.98
	293.02
	39.86

80.80

69.26

92.35

103.89

126.98

150.06

173.15

Hankerton Parish Council

Council Tax Schedule 2024/25	Band A (£)	Band B (£)	Band C (£)	Band D (£)	Band E (£)	Band F (£)	Band G (£)	Band H (£)
Wiltshire Council (inclusive of Adult Social Care Levy)	1,203.82	1,404.46	1,605.09	1,805.73	2,207.00	2,608.28	3,009.55	3,611.46
Office of the Police & Crime Commissioner for Wiltshire & Swindon	179.51	209.43			329.11	388.95		
Dorset & Wiltshire Fire and Rescue Authority	57.97	67.63		86.95		125.59		
Town & Parish Council (Average)	112.22	130.92		168.33		243.14		
Total	1,553.52					3,365.96		
	1,000.00	1,011				5,000.00		.,
Council Tax Charge by band per Parish/Town Council								
East Kennett Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
East Knoyle Parish Council	27.11	31.62	36.14	40.66	49.70	58.73	67.77	81.32
Easterton Parish Council	54.07	63.09	72.10	81.11	99.13	117.16	135.18	162.22
Easton Grey Parish Council	12.47	14.54	16.62	18.70	22.86	27.01	31.17	37.40
Easton Royal Parish Council	47.29	55.17	63.05	70.93	86.69	102.45	118.22	141.86
Ebbesbourne Wake Parish Council	22.93	26.76	30.58	34.40	42.04	49.69	57.33	68.80
Edington Parish Council	41.37	48.27	55.16	62.06	75.85	89.64	103.43	124.12
Enford Parish Council	48.09	56.10	64.12	72.13	88.16	104.19	120.22	144.26
Erlestoke Parish Council	52.86	61.67	70.48	79.29	96.91	114.53	132.15	158.58
Etchilhampton Parish Council	27.79	32.43	37.06	41.69	50.95	60.22	69.48	83.38
Everleigh Parish Council	28.95	33.78	38.60	43.43	53.08	62.73	72.38	86.86
Figheldean Parish Council	58.60	68.37	78.13	87.90	107.43	126.97	146.50	175.80
Firsdown Parish Council	66.57	77.66	88.76	99.85	122.04	144.23	166.42	199.70
Fittleton cum Haxton Parish Council	41.43	48.33	55.24	62.14	75.95	89.76	103.57	124.28
Fonthill Bishop Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Fonthill Gifford Parish Council	24.41	28.47	32.54	36.61	44.75	52.88	61.02	73.22
Fovant Parish Council	34.73	40.51	46.30	52.09	63.67	75.24	86.82	104.18
Froxfield Parish Council	59.40	69.30	79.20	89.10	108.90	128.70	148.50	178.20
Kennet Valley Parish Council	40.13	46.82	53.51	60.20	73.58	86.96	100.33	120.40
Grafton Parish Council	19.64	22.91	26.19	29.46	36.01	42.55	49.10	58.92
Great Bedwyn Parish Council	35.02	40.86	46.69	52.53	64.20	75.88	87.55	105.06
Great Hinton Parish Council	20.53	23.96	27.38	30.80	37.64	44.49	51.33	61.60
Great Somerford Parish Council	23.90	27.88	31.87	35.85	43.82	51.78	59.75	71.70
Great Wishford Parish Council	21.65	25.26	28.87	32.48	39.70	46.92	54.13	64.96
Grimstead Parish Council	48.69	56.81	64.92	73.04	89.27	105.50	121.73	146.08
Grittleton Parish Council	9.69	11.31	12.92	14.54	17.77	21.00	24.23	29.08
Ham Parish Council	11.31	13.19	15.08	16.96	20.73	24.50	28.27	33.92

20.94

24.43

27.92

31.41

38.39

45.37

52.35

	1			T	T		1	T
2 117 2 1 1 2224/25	Band A (£)	Band B (£)	Band C (£)	Band D (£)	Band E (£)	Band F (£)	Band G (£)	Band H (£)
Council Tax Schedule 2024/25	4 000 00	4 404 40	4.005.00	4 005 70	0.007.00	0.000.00	0.000.55	0.044.40
Wiltshire Council (inclusive of Adult Social Care Levy)	1,203.82	1,404.46				2,608.28		
Office of the Police & Crime Commissioner for Wiltshire & Swindon	179.51	209.43				388.95		
Dorset & Wiltshire Fire and Rescue Authority	57.97	67.63		86.95		125.59		
Town & Parish Council (Average)	112.22	130.92		168.33		243.14		
Total	1,553.52	1,812.44	2,071.36	2,330.28	2,848.12	3,365.96	3,883.80	4,660.56
Council Tax Charge by band per Parish/Town Council								
Heddington Parish Council	25.00	29.17	33.33	37.50	45.83	54.17	62.50	75.00
Heytesbury & Knook Parish Council	39.39	45.96	52.52	59.09	72.22	85.35	98.48	118.18
Heywood Parish Council	15.79	18.42	21.05	23.68	28.94	34.20	39.47	47.36
Hilmarton Parish Council	28.38	33.11	37.84	42.57	52.03	61.49	70.95	85.14
Hilperton Parish Council	10.47	12.22	13.96	15.71	19.20	22.69	26.18	31.42
Hindon Parish Council	48.57	56.66	64.76	72.85	89.04	105.23	121.42	145.70
Holt Parish Council	32.26	37.64	43.01	48.39	59.14	69.90	80.65	96.78
Horningsham Parish Council	123.07	143.58	164.09	184.60	225.62	266.64	307.67	369.20
Hullavington Parish Council	28.73	33.51	38.30	43.09	52.67	62.24	71.82	86.18
Idmiston Parish Council	64.02	74.69	85.36	96.03	117.37	138.71	160.05	192.06
Keevil Parish Council	28.15	32.85	37.54	42.23	51.61	61.00	70.38	84.46
Kilmington Parish Council	62.96	73.45	83.95	94.44	115.43	136.41	157.40	188.88
Kington Langley Parish Council	44.41	51.82	59.22	66.62	81.42	96.23	111.03	133.24
Kington St Michael Parish Council	110.67	129.11	147.56	166.00	202.89	239.78	276.67	332.00
Lacock Parish Council	51.50	60.08	68.67	77.25	94.42	111.58	128.75	154.50
Landford Parish Council	51.05	59.55	68.06	76.57	93.59	110.60	127.62	153.14
Langley Burrell Parish Council	60.24	70.28	80.32	90.36	110.44	130.52	150.60	180.72
Latton Parish Council	40.22	46.92	53.63	60.33	73.74	87.14	100.55	120.66
Laverstock & Ford Parish Council	54.19	63.22	72.25	81.28	99.34	117.40	135.47	162.56
Lea & Cleverton Parish Council	24.35	28.40	32.46	36.52	44.64	52.75	60.87	73.04
Leigh Parish Council	18.15	21.18	24.20	27.23	33.28	39.33	45.38	54.46
Limpley Stoke Parish Council	50.37	58.76	67.16	75.55	92.34	109.13	125.92	151.10
Little Bedwyn Parish Council	15.29	17.83	20.38	22.93	28.03	33.12	38.22	45.86
Little Cheverell Parish Council	50.06	58.40	66.75	75.09	91.78	108.46	125.15	150.18
Little Somerford Parish Council	41.06	47.90	54.75	61.59	75.28	88.96	102.65	123.18
Longbridge Deverill Parish Council	13.66	15.94	18.21	20.49	25.04	29.60	34.15	40.98
Luckington Parish Council	25.49	29.73	33.98	38.23	46.73	55.22	63.72	76.46
Ludgershall Town Council	94.37	110.09	125.82	141.55	173.01	204.46	235.92	283.10

	1				Г		1	
2 117 2 1 1 2224/25	Band A (£)	Band B (£)	Band C (£)	Band D (£)	Band E (£)	Band F (£)	Band G (£)	Band H (£)
Council Tax Schedule 2024/25	4 222 22				0.00=.00		2 222	2 2 4 4 4 2
Wiltshire Council (inclusive of Adult Social Care Levy)	1,203.82	1,404.46		1,805.73		2,608.28		3,611.46
Office of the Police & Crime Commissioner for Wiltshire & Swindon	179.51	209.43		269.27	329.11	388.95		538.54
Dorset & Wiltshire Fire and Rescue Authority	57.97	67.63		86.95		125.59		173.90
Town & Parish Council (Average)	112.22	130.92				243.14		336.66
Total	1,553.52	1,812.44	2,071.36	2,330.28	2,848.12	3,365.96	3,883.80	4,660.56
Council Tax Charge by band per Parish/Town Council	1							
Lydiard Millicent Parish Council	54.45	63.53	72.60	81.68	99.83	117.98	136.13	163.36
Lydiard Tregoze Parish Council	34.21	39.92	45.62	51.32	62.72	74.13	85.53	103.50
Lyneham & Bradenstoke Parish Council	26.27	30.64	35.02	39.40	48.16	56.91	65.67	78.80
Maiden Bradley Parish Council	132.99	155.16	177.32	199.49	243.82	288.15	332.48	398.98
Malmesbury Town Council	158.31	184.70	211.08	237.47	290.24	343.01	395.78	474.94
Manningford Parish Council	30.97	36.14	41.30	46.46	56.78	67.11	77.43	92.92
Marden Parish Council	22.94	26.76	30.59	34.41	42.06	49.70	57.35	68.82
Market Lavington Parish Council	64.62	75.39	86.16	96.93	118.47	140.01	161.55	193.86
Marlborough Town Council	164.65	192.09	219.53	246.97	301.85	356.73	411.62	493.94
Marston Meysey Parish Council	30.17	35.19	40.22	45.25	55.31	65.36	75.42	90.50
Marston Parish Council	21.52	25.11	28.69	32.28	39.45	46.63	53.80	64.56
Melksham Town Council	117.13	136.65	156.17	175.69	214.73	253.77	292.82	351.38
Melksham Without Parish Council	59.96	69.95	79.95	89.94	109.93	129.91	149.90	179.88
Mere Parish Council	105.79	123.43	141.06	158.69	193.95	229.22	264.48	317.38
Mildenhall Parish Council	60.05	70.05	80.06	90.07	110.09	130.10	150.12	180.14
Milston Parish Council	15.15	17.68	20.20	22.73	27.78	32.83	37.88	45.46
Milton Lilbourne Parish Council	40.20	46.90	53.60	60.30	73.70	87.10	100.50	120.60
Minety Parish Council	17.18	20.04	22.91	25.77	31.50	37.22	42.95	51.54
Monkton Farleigh Parish Council	35.42	41.32	47.23	53.13	64.94	76.74	88.55	106.26
Netheravon Parish Council	50.35	58.75	67.14	75.53	92.31	109.10	125.88	151.06
Netherhampton Parish Council	28.44	33.18	37.92	42.66	52.14	61.62	71.10	85.32
Nettleton Parish Council	12.15	14.17	16.20	18.22	22.27	26.32	30.37	36.44
Newton Toney Parish Council	68.54	79.96	91.39	102.81	125.66	148.50	171.35	205.62
North Bradley Parish Council	18.17	21.20	24.23	27.26	33.32	39.38	45.43	54.52
North Newnton Parish Council	51.84	60.48	69.12	77.76	95.04	112.32	129.60	155.52
North Wraxall Parish Council	41.95	48.94	55.93	62.92	76.90	90.88	104.87	125.84
Norton & Foxley Parish Meeting	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Norton Bayant Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00

Shrewton Parish Council

							ı	· 1
	Band A (£)	Band B (£)	Band C (£)	Band D (£)	Band E (£)	Band F (£)	Band G (£)	Band H (£)
Council Tax Schedule 2024/25			` `	` `			` '	
Wiltshire Council (inclusive of Adult Social Care Levy)	1,203.82	1,404.46	1,605.09		2,207.00	2,608.28		
Office of the Police & Crime Commissioner for Wiltshire & Swindon	179.51	209.43	239.35		329.11	388.95		
Dorset & Wiltshire Fire and Rescue Authority	57.97	67.63	77.29			125.59		173.90
Town & Parish Council (Average)	112.22	130.92	149.63					
Total	1,553.52	1,812.44	2,071.36	2,330.28	2,848.12	3,365.96	3,883.80	4,660.56
Council Tax Charge by band per Parish/Town Council								
Oaksey Parish Council	47.32	55.21	63.09	70.98	86.75	102.53	118.30	141.96
Odstock Parish Council	48.61	56.71	64.81	72.91	89.11	105.31	121.52	145.82
Ogbourne St Andrew Parish Council	15.10	17.62	20.13	22.65	27.68	32.72	37.75	45.30
Ogbourne St George Parish Council	40.60	47.37	54.13	60.90	74.43	87.97	101.50	121.80
Orcheston Parish Council	20.79	24.26	27.72	31.19	38.12	45.05	51.98	62.38
Patney Parish Council	14.56	16.99	19.41	21.84	26.69	31.55	36.40	43.68
Pewsey Parish Council	66.18	77.21	88.24	99.27	121.33	143.39	165.45	198.54
Pitton & Farley Parish Council	32.12	37.47	42.83	48.18	58.89	69.59	80.30	96.36
Potterne Parish Council	35.31	41.19	47.08	52.96	64.73	76.50	88.27	105.92
Poulshot Parish Council	61.84	72.15	82.45	92.76	113.37	133.99	154.60	185.52
Preshute Parish Council	36.07	42.09	48.10	54.11	66.13	78.16	90.18	108.22
Purton Parish Council	101.81	118.78	135.75	152.72	186.66	220.60	254.53	305.44
Quidhampton Parish Council	49.72	58.01	66.29	74.58	91.15	107.73	124.30	149.16
Ramsbury Parish Council	53.94	62.93	71.92	80.91	98.89	116.87	134.85	161.82
Redlynch Parish Council	27.46	32.04	36.61	41.19	50.34	59.50	68.65	82.38
Rowde Parish Council	54.41	63.47	72.54	81.61	99.75	117.88	136.02	163.22
Royal Wootton Bassett Town Council	166.72	194.51	222.29	250.08	305.65	361.23	416.80	500.16
Rushall Parish Council	77.78	90.74	103.71	116.67	142.60	168.52	194.45	233.34
Salisbury City Council	242.66	283.10	323.55	363.99	444.88	525.76	606.65	727.98
Savernake Parish Council	6.37	7.43	8.49	9.55	11.67	13.79	15.92	19.10
Seagry Parish Council	82.87	96.69	110.50	124.31	151.93	179.56	207.18	248.62
Sedgehill & Semley Parish Council	36.26	42.30	48.35	54.39	66.48	78.56	90.65	108.78
Seend Parish Council	26.69	31.14	35.59	40.04	48.94	57.84	66.73	80.08
Semington Parish Council	23.69	27.63	31.58	35.53	43.43	51.32	59.22	71.06
Shalbourne Parish Council	20.39	23.78	27.18	30.58	37.38	44.17	50.97	61.16
Sherrington Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Sherston Parish Council	80.77	94.23	107.69	121.15	148.07	174.99	201.92	242.30

35.47

30.41

40.54

45.61

55.75

65.88

76.02

					1		,	
	Band A (£)	Band B (£)	Band C (£)	Band D (£)	Band E (£)	Band F (£)	Band G (£)	Band H (£)
Council Tax Schedule 2024/25								
Wiltshire Council (inclusive of Adult Social Care Levy)	1,203.82	1,404.46		1,805.73		2,608.28		3,611.46
Office of the Police & Crime Commissioner for Wiltshire & Swindon	179.51	209.43		269.27	329.11	388.95		538.54
Dorset & Wiltshire Fire and Rescue Authority	57.97	67.63		86.95		125.59		173.90
Town & Parish Council (Average)	112.22	130.92	149.63			243.14		
Total	1,553.52	1,812.44	2,071.36	2,330.28	2,848.12	3,365.96	3,883.80	4,660.56
Council Tax Charge by band per Parish/Town Council								
Sopworth Parish Council	4.69	5.48	6.26	7.04	8.60	10.17	11.73	14.08
South Newton Parish Council	27.02	31.52	36.03	40.53	49.54	58.54	67.55	81.06
South Wraxall Parish Council	14.55	16.97	19.40	21.82	26.67	31.52	36.37	43.64
Southwick Parish Council	23.37	27.26	31.16	35.05	42.84	50.63	58.42	70.10
St Paul Without	10.04	11.71	13.39	15.06	18.41	21.75	25.10	30.12
Stanton St Bernard Parish Council	32.28	37.66	43.04	48.42	59.18	69.94	80.70	96.84
Stanton St Quintin Parish Council	19.03	22.20	25.37	28.54	34.88	41.22	47.57	57.08
Stapleford Parish Council	31.56	36.82	42.08	47.34	57.86	68.38	78.90	94.68
Staverton Parish Council	28.26	32.97	37.68	42.39	51.81	61.23	70.65	84.78
Steeple Ashton Parish Council	41.99	48.99	55.99	62.99	76.99	90.99	104.98	125.98
Steeple Langford Parish Council	14.47	16.88	19.29	21.70	26.52	31.34	36.17	43.40
Stert Parish Council	10.91	12.72	14.54	16.36	20.00	23.63	27.27	32.72
Stockton Parish Council	7.35	8.57	9.80	11.02	13.47	15.92	18.37	22.04
Stourton Parish Council	36.55	42.64	48.73	54.82	67.00	79.18	91.37	109.64
Stratford Tony Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Sutton Benger Parish Council	17.87	20.85	23.83	26.81	32.77	38.73	44.68	53.62
Sutton Mandeville Parish Council	10.40	12.13	13.87	15.60	19.07	22.53	26.00	31.20
Sutton Veny Parish Council	37.60	43.87	50.13	56.40	68.93	81.47	94.00	112.80
Swallowcliffe Parish Council	29.44	34.35	39.25	44.16	53.97	63.79	73.60	88.32
Teffont Parish Council	56.82	66.29	75.76	85.23	104.17	123.11	142.05	170.46
Tidcombe & Fosbury Parish Council	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Tidworth Town Council	134.65	157.09	179.53	201.97	246.85	291.73	336.62	403.94
Tilshead Parish Council	38.61	45.04	51.48	57.91	70.78	83.65	96.52	115.82
Tisbury Parish Council	91.75	107.05	122.34	137.63	168.21	198.80	229.38	275.26
Tockenham Parish Council	65.85	76.83	87.80	98.78	120.73	142.68	164.63	197.56
Tollard Royal Parish Council	47.67	55.61	63.56	71.50	87.39	103.28	119.17	143.00
Trowbridge Town Council	180.43	210.51	240.58	270.65	330.79	390.94	451.08	541.30
Upavon Parish Council	40.17	46.86	53.56	60.25	73.64	87.03	100.42	120.50

					Г		1	
	Band A (£)	Band B (£)	Band C (£)	Band D (£)	Band E (£)	Band F (£)	Band G (£)	Band H (£)
Council Tax Schedule 2024/25	4 000 00						2 222	0.044.40
Wiltshire Council (inclusive of Adult Social Care Levy)	1,203.82	1,404.46		1,805.73		2,608.28		3,611.46
Office of the Police & Crime Commissioner for Wiltshire & Swindon	179.51	209.43		269.27	329.11	388.95		
Dorset & Wiltshire Fire and Rescue Authority	57.97	67.63				125.59		173.90
Town & Parish Council (Average)	112.22	130.92				243.14		
Total	1,553.52	1,812.44	2,071.36	2,330.28	2,848.12	3,365.96	3,883.80	4,660.56
Council Tax Charge by band per Parish/Town Council								
Upper Deverills Parish Council	30.32	35.37	40.43	45.48	55.59	65.69	75.80	90.96
Upton Lovell Parish Council	23.93	27.92	31.91	35.90	43.88	51.86	59.83	71.80
Upton Scudamore Parish Council	27.90	32.55	37.20	41.85	51.15	60.45	69.75	83.70
Urchfont Parish Council	68.70	80.15	91.60	103.05	125.95	148.85	171.75	206.10
Warminster Town Council	144.33	168.39	192.44	216.50	264.61	312.72	360.83	433.00
West Ashton Parish Council	24.13	28.16	32.18	36.20	44.24	52.29	60.33	72.40
West Dean Parish Council	119.51	139.42	159.34	179.26	219.10	258.93	298.77	358.52
West Knoyle Parish Council	51.37	59.93	68.49	77.05	94.17	111.29	128.42	154.10
West Lavington Parish Council	46.25	53.95	61.66	69.37	84.79	100.20	115.62	138.74
West Tisbury Parish Council	37.83	44.14	50.44	56.75	69.36	81.97	94.58	113.50
Westbury Town Council	161.08	187.93	214.77	241.62	295.31	349.01	402.70	483.24
Westwood Parish Council	62.38	72.78	83.17	93.57	114.36	135.16	155.95	187.14
Whiteparish Parish Council	39.26	45.80	52.35	58.89	71.98	85.06	98.15	117.78
Wilcot & Huish Parish Council	23.17	27.03	30.89	34.75	42.47	50.19	57.92	69.50
Wilsford-cum-Lake Parish Council	5.21	6.07	6.94	7.81	9.55	11.28	13.02	15.62
Wilton Town Council	104.01	121.34	138.68	156.01	190.68	225.35	260.02	312.02
Wingfield Parish Council	64.27	74.99	85.70	96.41	117.83	139.26	160.68	192.82
Winsley Parish Council	20.30	23.68	27.07	30.45	37.22	43.98	50.75	60.90
Winterbourne Parish Council	34.65	40.42	46.20	51.97	63.52	75.07	86.62	103.94
Winterbourne Stoke Parish Council	73.12	85.31	97.49	109.68	134.05	158.43	182.80	219.36
Winterslow Parish Council	63.89	74.53	85.18	95.83	117.13	138.42	159.72	191.66
Woodborough Parish Council	43.15	50.34	57.53	64.72	79.10	93.48	107.87	129.44
Woodford Parish Council	23.87	27.84	31.82	35.80	43.76	51.71	59.67	71.60
Wootton Rivers Parish Council	24.19	28.23	32.26	36.29	44.35	52.42	60.48	72.58
Worton Parish Council	28.97	33.80	38.63	43.46	53.12	62.78	72.43	86.92
Wylye Parish Council	24.63	28.73	32.84	36.94	45.15	53.36	61.57	73.88
Yatton Keynell Parish Council	27.47	32.04	36.62	41.20	50.36	59.51	68.67	82.40
Zeals Parish Council	14.85	17.33	19.80	22.28	27.23	32.18	37.13	44.56

		2023/24			2024/25		C Tax
							Increase/
			Council Tax			Council Tax	(Decrease
Parish/Town Council	Tax Base	Precept (£)	Band D (£)	Tax Base	Precept (£)	Band D (£)	)
Aldbourne Parish Council	809.57	46,000.00	56.82	812.98		66.45	16.95%
Alderbury Parish Council	1,019.26	56,939.86	55.86	1,039.45	66,307.00	63.79	14.20%
All Cannings Parish Council	269.76	20,000.00	74.14			80.12	8.07%
Allington Parish Council	218.49	15,000.00	68.65	224.85	19,500.00	86.72	26.32%
Alton Parish Council	112.35	5,469.20	48.68	111.49	6,373.00	57.16	17.42%
Alvediston Parish Meeting	49.88	0.00	0.00	51.10	0.00	0.00	0.00%
Amesbury Town Council	4,501.46	628,842.00	139.70	4,613.06	710,596.00	154.04	10.26%
Ansty Parish Council	82.97	2,450.00	29.53	81.31	2,550.00	31.36	6.20%
Ashton Keynes Parish Council	673.10	36,335.00	53.98	673.02	38,173.00	56.72	5.08%
Atworth Parish Council	486.65	34,356.00	70.60	486.10	36,417.00	74.92	6.12%
Avebury Parish Council	225.05	14,532.00	64.57	227.49	14,689.03	64.57	0.00%
Barford St Martin Parish Council	208.51	10,100.00	48.44	214.03	10,600.00	49.53	2.25%
Baydon Parish Council	308.98	14,000.00	45.31	308.25	16,940.00	54.96	21.30%
Beechingstoke Parish Council	67.53	4,270.00	63.23	68.28	4,400.00	64.44	0.00%
Berwick Bassett & W/Bourne Monkton Parish Council	108.04	5,357.00	49.58	110.17	5,434.00	49.32	(0.52%)
Berwick St James Parish Council	83.29	2,000.00	24.01	83.32	2,000.00	24.00	(0.04%)
Berwick St John Parish Council	135.36	7,500.00	55.41	137.42	7,850.00	57.12	3.09%
Berwick St Leonard Parish Council	14.84	0.00	0.00	16.21	0.00	0.00	0.00%
Biddestone Parish Council	260.42	19,208.70	73.76	258.00	20,022.18	77.61	5.22%
Bishops Cannings Parish Council	1,323.05	75,000.00	56.69	1,325.87	82,500.00	62.22	9.75%
Bishopstone Parish Council	281.19	5,000.00	17.78	278.47	7,500.00	26.93	51.46%
Bishopstrow Parish Council	72.29	1,600.00	22.13	70.79	1,600.00	22.60	2.12%
Bowerchalke Parish Council	185.67	5,657.35	30.47	187.30	5,707.03	30.47	0.00%
Box Parish Council	1,775.80	178,865.00	100.72	1,774.40	199,547.00	112.46	11.66%
Boyton Parish Council	84.39	1,450.00	17.18	83.61	1,450.00	17.34	0.93%
Bradford On Avon Town Council	4,144.54	1,038,663.17	250.61	4,146.80	1,132,740.00	273.16	9.00%
Bratton Parish Council	506.27	41,327.00	81.63	506.30	47,603.00	94.02	15.18%
Braydon Parish Council	30.67	0.00	0.00	30.74	0.00	0.00	0.00%
Bremhill Parish Council	481.75	13,250.00	27.50	482.85	15,900.00	32.93	19.75%
Brinkworth Parish Council	645.40	28,462.14	44.10	642.74	29,600.63	46.05	4.42%
Britford Parish Council	190.60	7,500.00	39.35	197.02	9,000.00	45.68	16.09%
Broad Hinton & W/Bourne Bassett Parish Council	389.48	14,829.80	38.08	388.03	15,363.13	39.59	3.97%
Broad Town Parish Council	276.36	10,096.00	36.53		10,146.00	36.87	0.93%
Broadchalke Parish Council	324.77	11,937.00	36.76	321.62	22,300.00	69.34	88.63%

		2023/24			2024/25		
Parish/Town Council	Tax Base	Precept (£)	Council Tax Band D (£)	Tax Base	Precept (£)	Council Tax Band D (£)	C Tax Increase/ (Decrease)
Brokenborough Parish Council	105.09	1,963.08		103.70	2,711.76	26.15	
Bromham Parish Council	767.54	45,000.00		768.68		80.66	37.57%
Broughton Gifford Parish Council	361.57	18,190.59		371.17	18,190.59	49.01	(2.58%)
Bulford Parish Council	1,436.37	57,386.90		1,432.42	59,679.14	41.66	4.28%
Bulkington Parish Council	121.10	11,366.00		122.45	15,513.00	126.69	34.98%
Burbage Parish Council	847.38	31,064.95		852.69	31,324.00	36.74	0.22%
Burcombe Parish Council	63.16	3,245.00		63.40	3,630.00	57.26	11.44%
Buttermere Parish Council	31.65	0.00		30.79		0.00	0.00%
Calne Town Council	6,327.46	1,364,011.00		6,355.29		226.35	5.00%
Calne Without Parish Council	1,477.77	32,097.00	21.72	1,518.42	32,980.08	21.72	0.00%
Castle Combe Parish Council	173.56	6,000.00	34.57	171.53	6,000.00	34.98	1.19%
Chapmanslade Parish Council	342.49	6,750.00	19.71	350.58	7,250.00	20.68	4.92%
Charlton Parish Council	247.03	9,500.00	38.46	246.36	10,000.00	40.59	5.54%
Charlton St Peter & Wilsford Parish Council	85.01	1,450.00	17.06	87.78	1,450.00	16.52	(3.17%)
Cherhill Parish Council	364.48	15,000.00	41.15	362.89	20,000.00	55.11	33.92%
Cheverell Magna (Great Cheverell) Parish Council	247.71	13,699.00	55.30	245.35	16,308.00	66.47	20.20%
Chicklade Parish Council	40.30	0.00	0.00	40.32	0.00	0.00	0.00%
Chilmark Parish Council	244.83	9,600.00	39.21	245.71	11,000.00	44.77	14.18%
Chilton Foliat Parish Council	198.22	7,540.00	38.04	209.37	7,917.00	37.81	(0.60%)
Chippenham Town Council	13,290.16	3,968,965.00	298.64	13,404.17	4,151,782.00	309.74	3.72%
Chippenham Without Parish Council	89.94	12,000.00	133.42	91.77	12,000.00	130.76	(1.99%)
Chirton Parish Council	183.58	12,978.00	70.69	184.42	13,886.46	75.30	6.52%
Chitterne Parish Council	140.32	10,421.38	74.27	137.76	10,765.00	78.14	5.21%
Cholderton Parish Council	91.65	4,765.80	52.00	92.49	5,086.95	55.00	5.77%
Christian Malford Parish Council	376.19	27,838.75	74.00	383.16	23,281.49	60.76	(17.89%)
Chute Forest Parish Council	89.68	5,400.00	60.21	91.72	5,650.00	61.60	2.31%
Chute Parish Council	177.11	9,000.00	50.82	173.51	9,000.00	51.87	2.07%
Clarendon Park Parish Council	135.18	1,000.00		136.68	5,116.00	37.43	405.81%
Clyffe Pypard Parish Council	157.34	1,000.00		157.67	4,500.00	28.54	348.74%
Codford Parish Council	364.12	20,565.00		365.15	20,447.23	56.00	(0.85%)
Colerne Parish Council	944.91	72,644.68		941.72	77,249.29	82.03	6.70%
Collingbourne Ducis Parish Council	387.09	26,109.22		385.37	30,259.87	78.52	16.41%
Collingbourne Kingston Parish Council	228.78	14,500.00	63.38	230.22	16,000.00	69.50	9.66%

		2023/24			2024/25		
Parish/Town Council	Tax Base	Precept (£)	Council Tax Band D (£)	Tax Base	Precept (£)	Council Tax Band D (£)	C Tax Increase/ (Decrease)
Compton Bassett Parish Council	114.19	7,000.00	61.30	114.63	8,000.00	69.79	13.85%
Compton Chamberlayne Parish Council	61.56	2,800.00	45.48	61.89	2,800.00	45.24	(0.53%)
Coombe Bissett Parish Council	370.25	12,000.00		367.32	13,000.00	35.39	9.19%
Corsham Town Council	4,970.67	1,126,728.00	226.68	4,964.34	1,227,300.00	247.22	9.06%
Corsley Parish Council	354.40	15,140.00	42.72	350.43	15,140.00	43.20	1.12%
Coulston Parish Council	80.60	3,850.00	47.77	84.53	4,042.00	47.82	0.10%
Cricklade Town Council	1,667.76	370,530.00	222.17	1,671.30	389,677.00	233.16	4.95%
Crudwell Parish Council	531.42	15,831.00	29.79	529.16	16,000.00	30.24	1.51%
Dauntsey Parish Council	267.13	21,500.00	80.49	264.27	23,500.00	88.92	10.47%
Devizes Town Council	5,981.86	1,164,225.00	194.63	6,078.68	1,259,456.00	207.19	6.45%
Dilton Marsh Parish Council	718.80	31,259.00	43.49	727.46	32,810.00	45.10	3.70%
Dinton Parish Council	308.06	15,000.00	48.69	313.57	17,000.00	54.21	11.34%
Donhead St Andrew Parish Council	252.08	12,859.00	51.01	251.33	12,820.00	51.01	0.00%
Donhead St Mary Parish Council	483.64	19,525.00	40.37	481.87	19,995.00	41.49	2.77%
Downton Parish Council	1,418.01	151,000.00	106.49	1,409.16	206,450.00	146.51	37.58%
Durnford Parish Council	190.34	3,612.65	18.98	191.54	3,817.39	19.93	5.01%
Durrington Town Council	2,646.92	275,000.00	103.89	2,647.11	275,000.00	103.89	0.00%
East Kennett Parish Council	57.41	0.00	0.00	57.54	0.00	0.00	0.00%
East Knoyle Parish Council	349.51	12,358.67	35.36	348.28	14,161.06	40.66	14.99%
Easterton Parish Council	284.79	22,000.00	77.25	289.73	23,500.00	81.11	5.00%
Easton Grey Parish Council	43.79	750.00	17.13	44.11	825.00	18.70	9.17%
Easton Royal Parish Council	142.79	8,300.00	58.13	140.42	9,960.00	70.93	22.02%
Ebbesbourne Wake Parish Council	109.57	3,675.00	33.54	106.82	3,675.00	34.40	2.56%
Edington Parish Council	333.41	16,000.00	47.99	338.38	21,000.00	62.06	29.32%
Enford Parish Council	255.74	17,445.00	68.21	255.10	18,400.00	72.13	5.75%
Erlestoke Parish Council	95.53	7,114.12	74.47	94.59	7,500.00	79.29	6.47%
Etchilhampton Parish Council	73.19	3,000.00	40.99	71.96	3,000.00	41.69	1.71%
Everleigh Parish Council	93.52	3,972.90	42.48	92.18	4,003.24	43.43	2.24%
Figheldean Parish Council	229.81	20,000.00	87.03	231.61	20,358.52	87.90	1.00%
Firsdown Parish Council	279.09	18,650.00	66.82	277.66	27,725.00	99.85	49.43%
Fittleton cum Haxton Parish Council	117.08	7,202.76	61.52	119.24	7,409.57	62.14	1.01%
Fonthill Bishop Parish Council	43.18	0.00	0.00	43.87	0.00	0.00	0.00%

		2023/24			2024/25		
			Council Tax			Council Tax	C Tax Increase/
Parish/Town Council	Tax Base	Precept (£)	Band D (£)	Tax Base	Precept (£)	Band D (£)	(Decrease)
Fonthill Gifford Parish Council	62.64	2,190.00	34.96	62.28	2,280.00	36.61	4.72%
Fovant Parish Council	343.83	17,480.00		341.70	17,800.00	52.09	2.46%
Froxfield Parish Council	148.04	12,500.00		145.90	13,000.00	89.10	5.52%
Kennet Valley Parish Council	403.81	25,000.00		398.65	24,000.00	60.20	(2.76%)
Grafton Parish Council	337.91	9,950.00		337.80	9,950.00	29.46	0.03%
Great Bedwyn Parish Council	592.22	28,000.00		590.14	31,000.00	52.53	11.10%
Great Hinton Parish Council	100.35	3,000.00		105.31	3,243.55	30.80	3.01%
Great Somerford Parish Council	446.00	16,400.00	36.77	458.83	16,450.00	35.85	(2.50%)
Great Wishford Parish Council	138.55	4,500.00	32.48	139.73	4,538.43	32.48	0.00%
Grimstead Parish Council	296.75	12,000.00	40.44	292.99	21,400.00	73.04	80.61%
Grittleton Parish Council	297.80	4,124.00	13.85	302.73	4,401.69	14.54	4.98%
Ham Parish Council	116.26	1,500.00	12.90	117.94	2,000.00	16.96	31.47%
Hankerton Parish Council	150.34	4,722.00	31.41	151.64	4,763.00	31.41	0.00%
Heddington Parish Council	209.05	7,258.22	34.72	208.10	7,803.75	37.50	8.01%
Heytesbury & Knook Parish Council	348.86	19,570.00	56.10	353.69	20,900.00	59.09	5.33%
Heywood Parish Council	313.53	7,280.00	23.22	312.48	7,400.00	23.68	1.98%
Hilmarton Parish Council	317.65	13,500.00	42.50	317.14	13,500.00	42.57	0.16%
Hilperton Parish Council	1,664.93	23,775.00	14.28	1,671.06	26,248.00	15.71	10.01%
Hindon Parish Council	242.28	17,000.00	70.17	245.04	17,850.00	72.85	3.82%
Holt Parish Council	710.20	34,112.00	48.03	723.32	35,000.00	48.39	0.75%
Horningsham Parish Council	162.47	20,486.65	126.09	162.37	29,973.45	184.60	46.40%
Hullavington Parish Council	500.70	17,000.00	33.95	510.52	22,000.00	43.09	26.92%
Idmiston Parish Council	947.69	83,650.00	88.27	956.11	91,816.60	96.03	8.79%
Keevil Parish Council	229.06	8,411.08	36.72	227.43	9,604.37	42.23	15.01%
Kilmington Parish Council	141.23	10,323.00	73.09	142.93	13,498.00	94.44	29.21%
Kington Langley Parish Council	373.33	23,486.19	62.91	373.69	24,895.36	66.62	5.90%
Kington St Michael Parish Council	315.86	43,723.32	138.43	320.68	53,233.32	166.00	19.92%
Lacock Parish Council	498.50	36,987.95	74.20	502.57	38,824.22	77.25	4.11%
Landford Parish Council	966.32	65,000.00	67.27	966.38	74,000.00	76.57	13.82%
Langley Burrell Parish Council	179.06	15,969.00		181.26	16,379.00	90.36	1.32%
Latton Parish Council	259.92	14,567.00		256.45	15,472.00	60.33	7.66%
Laverstock & Ford Parish Council	3,900.69	295,838.00		3,951.96	321,204.00	81.28	7.17%
Lea & Cleverton Parish Council	425.41	14,870.00	34.95	427.16	15,600.00	36.52	4.49%
Leigh Parish Council	155.15	4,179.00		153.49	4,179.00	27.23	1.08%
Limpley Stoke Parish Council	310.08	23,427.00		313.02	23,649.00	75.55	0.00%

		2023/24			2024/25		
			Council Tax	_		Council Tax	C Tax Increase/
Parish/Town Council	Tax Base	Precept (£)	Band D (£)	Tax Base	Precept (£)	Band D (£)	(Decrease)
Little Bedwyn Parish Council	135.25	3,095.00	22.88	134.97	3,095.00	22.93	0.22%
Little Cheverell Parish Council	83.79	4,500.00		84.83	6,370.00	75.09	39.81%
Little Somerford Parish Council	185.38	11,000.00		186.72	11,500.00	61.59	3.79%
Longbridge Deverill Parish Council	414.74	8,580.00		418.64	8,580.00	20.49	(0.97%)
Luckington Parish Council	301.76	10,510.00		302.44	11,561.00	38.23	9.76%
Ludgershall Town Council	1,803.42	247,379.00		1,860.11	263,299.00	141.55	3.19%
Lydiard Millicent Parish Council	785.15	59,919.00		785.40	64,151.00	81.68	7.02%
Lydiard Tregoze Parish Council	223.53	11,500.00		227.00	11,650.00	51.32	(0.25%)
Lyneham & Bradenstoke Parish Council	1,551.92	53,743.00		1,562.87	61,579.00	39.40	13.77%
Maiden Bradley Parish Council	133.89	28,620.25		147.77	29,478.85	199.49	(6.68%)
Malmesbury Town Council	2,239.08	512,852.00		2,269.16	538,852.00	237.47	3.68%
Manningford Parish Council	187.31	8,300.00	44.31	191.58	8,900.00	46.46	4.85%
Marden Parish Council	56.31	2,000.00	35.52	58.12	2,000.00	34.41	(3.13%)
Market Lavington Parish Council	769.23	68,523.00	89.08	779.13	75,523.00	96.93	8.81%
Marlborough Town Council	3,569.02	827,301.00	231.80	3,607.47	890,930.00	246.97	6.54%
Marston Meysey Parish Council	110.79	4,806.00		106.22	4,806.00	45.25	4.31%
Marston Parish Council	80.53	2,541.00	31.55	82.64	2,668.00	32.28	2.31%
Melksham Town Council	5,915.88	999,783.72	169.00	5,960.79	1,047,270.00	175.69	3.96%
Melksham Without Parish Council	2,895.42	245,271.03	84.71	2,908.62	261,592.00	89.94	6.17%
Mere Parish Council	1,252.44	186,290.00	148.74	1,261.46	200,176.56	158.69	6.69%
Mildenhall Parish Council	220.91	20,000.00	90.53	222.04	20,000.00	90.07	(0.51%)
Milston Parish Council	59.05	1,080.00	18.29	57.19	1,300.00	22.73	24.28%
Milton Lilbourne Parish Council	275.67	16,000.00	58.04	276.07	16,647.02	60.30	3.89%
Minety Parish Council	696.61	18,053.90	25.92	700.62	18,053.90	25.77	(0.58%)
Monkton Farleigh Parish Council	184.96	9,500.00	51.36	188.20	10,000.00	53.13	3.45%
Netheravon Parish Council	380.01	26,960.00	70.95	378.20	28,564.00	75.53	6.46%
Netherhampton Parish Council	72.86	2,970.00	40.76	69.62	2,970.00	42.66	4.66%
Nettleton Parish Council	362.01	6,300.00	17.40	363.07	6,615.00	18.22	4.71%
Newton Toney Parish Council	169.40	16,400.00	96.81	169.25	17,400.00	102.81	6.20%
North Bradley Parish Council	673.91	16,703.00		673.89	18,371.00	27.26	9.96%
North Newnton Parish Council	206.39	15,000.00		208.32	16,200.00	77.76	6.99%
North Wraxall Parish Council	217.82	12,926.24	59.34	217.94	13,712.00	62.92	6.03%
Norton & Foxley Parish Meeting	68.98	0.00	0.00	68.66	0.00	0.00	0.00%
Norton Bavant Parish Council	57.86	0.00	0.00	57.58	0.00	0.00	0.00%
Oaksey Parish Council	274.92	19,250.00	70.02	271.21	19,250.00	70.98	1.37%

		2023/24			2024/25		
	1	<b>D</b> 1 (0)	Council Tax	1	<b>D</b> (10)	Council Tax	C Tax Increase/
Parish/Town Council	Tax Base	Precept (£)	Band D (£)	Tax Base	Precept (£)	Band D (£)	(Decrease)
Odstock Parish Council	255.94	17,500.00	68.38	253.73	18,500.00	72.91	6.62%
Ogbourne St Andrew Parish Council	198.30	4,318.97	21.78	195.78	4,434.42	22.65	3.99%
Ogbourne St George Parish Council	234.42	13,418.00		231.22	14,082.00	60.90	6.39%
Orcheston Parish Council	106.68	2,215.00		110.89	3,459.00	31.19	
Patney Parish Council	69.51	1,500.00		68.68	1,500.00	21.84	1.20%
Pewsey Parish Council	1,585.03	150,000.00		1,586.52	157,500.00	99.27	4.89%
Pitton & Farley Parish Council	373.76	18,277.00		376.60	18,143.00	48.18	(1.47%)
Potterne Parish Council	597.53	25,824.00	43.22	604.24	32,000.00	52.96	22.54%
Poulshot Parish Council	160.08	14,100.00		159.55	14,800.00	92.76	5.31%
Preshute Parish Council	86.43	4,438.18	51.35	86.12	4,660.05	54.11	5.37%
Purton Parish Council	2,514.32	352,281.38	140.11	2,492.15	380,600.00	152.72	9.00%
Quidhampton Parish Council	158.60	11,500.00	72.51	154.20	11,500.00	74.58	2.85%
Ramsbury Parish Council	941.10	69,945.00	74.32	944.02	76,380.00	80.91	8.87%
Redlynch Parish Council	1,208.61	46,942.41	38.84	1,214.01	50,000.00	41.19	6.05%
Rowde Parish Council	501.74	39,371.54	78.47	496.92	40,553.64	81.61	4.00%
Royal Wootton Bassett Town Council	4,736.81	1,090,940.00	230.31	4,751.37	1,188,235.00	250.08	8.58%
Rushall Parish Council	72.56	8,047.80	110.91	75.79	8,842.20	116.67	5.19%
Salisbury City Council	15,380.78	5,152,561.30	335.00	15,502.31	5,642,672.00	363.99	8.65%
Savernake Parish Council	137.45	1,300.00	9.46	136.18	1,300.00	9.55	0.95%
Seagry Parish Council	172.07	20,500.00	119.14	172.95	21,500.00	124.31	4.34%
Sedgehill & Semley Parish Council	298.28	15,000.00	50.29	303.39	16,500.00	54.39	8.15%
Seend Parish Council	523.66	21,086.00	40.27	530.31	21,234.00	40.04	(0.57%)
Semington Parish Council	404.42	13,500.00	33.38	408.10	14,500.00	35.53	6.44%
Shalbourne Parish Council	325.11	10,000.00	30.76	326.98	10,000.00	30.58	(0.59%)
Sherrington Parish Council	36.01	0.00	0.00	35.83	0.00	0.00	0.00%
Sherston Parish Council	726.75	80,525.00	110.80	730.65	88,521.00	121.15	9.34%
Shrewton Parish Council	770.49	50,000.00	64.89	767.39	35,000.00	45.61	(29.71%)
Sopworth Parish Council	67.51	500.00		70.98	500.00	7.04	(4.99%)
South Newton Parish Council	232.61	9,115.99		236.16	9,571.79	40.53	3.42%
South Wraxall Parish Council	228.08	4,200.00		229.13	5,000.00	21.82	18.52%
Southwick Parish Council	764.23	22,200.00		771.58	27,044.00	35.05	20.65%
St Paul Without	1,062.03	16,043.00		1,065.03	16,043.00	15.06	(0.33%)
Stanton St Bernard Parish Council	84.43	3,885.00	46.01	84.26	4,080.00	48.42	5.24%
Stanton St Quintin Parish Council	275.49	7,000.00		280.32	8,000.00	28.54	12.32%
Stapleford Parish Council	141.29	6,500.00		142.80	6,760.00	47.34	2.91%

		2023/24			2024/25		
			Council Tax			Council Tax	C Tax Increase/
Parish/Town Council	Tax Base	Precept (£)	Band D (£)	Tax Base	Precept (£)	Band D (£)	(Decrease)
Staverton Parish Council	682.88	27,055.70	39.62	686.07	29,082.51	42.39	6.99%
Steeple Ashton Parish Council	443.37	26,600.00	60.00	446.73	28,139.00		4.98%
Steeple Langford Parish Council	243.82	5,200.00	21.33	253.45	5,500.00		1.73%
Stert Parish Council	92.57	1,800.00	19.44	91.69	1,500.00		(15.84%)
Stockton Parish Council	89.26	600.00	6.72	90.78	1,000.00		63.99%
Stourton Parish Council	99.07	3,640.14	36.74	98.85	5,419.00		49.21%
Stratford Tony Parish Council	31.73	0.00	0.00	33.01	0.00		0.00%
Sutton Benger Parish Council	562.89	15,010.82	26.67	578.12	15,499.66		0.52%
Sutton Mandeville Parish Council	141.29	2,220.00	15.71	141.01	2,200.00	15.60	(0.70%)
Sutton Veny Parish Council	332.57	16,444.00	49.45	331.60	18,703.00	56.40	14.05%
Swallowcliffe Parish Council	111.18	5,027.00	45.21	111.67	4,931.00	44.16	(2.32%)
Teffont Parish Council	161.24	9,161.66	56.82	163.39	13,925.73	85.23	50.00%
Tidcombe & Fosbury Parish Council	56.74	0.00	0.00	58.77	0.00	0.00	0.00%
Tidworth Town Council	2,846.27	538,767.00	189.29	2,857.86	577,200.00	201.97	6.70%
Tilshead Parish Council	133.13	7,664.00	57.57	133.83	7,750.00	57.91	0.59%
Tisbury Parish Council	956.81	123,233.00	128.80	948.72	130,570.00	137.63	6.86%
Tockenham Parish Council	123.24	10,000.00	81.14	121.48	12,000.00	98.78	21.74%
Tollard Royal Parish Council	66.90	5,019.51	75.03	67.13	4,800.00	71.50	(4.70%)
Trowbridge Town Council	11,870.90	2,615,263.00	220.31	11,930.54	3,228,982.00	270.65	22.85%
Upavon Parish Council	511.15	31,000.00	60.65	514.52	31,000.00	60.25	(0.66%)
Upper Deverills Parish Council	174.27	8,000.00	45.91	175.91	8,000.00	45.48	(0.94%)
Upton Lovell Parish Council	89.11	3,090.00	34.68	88.66	3,182.70	35.90	3.52%
Upton Scudamore Parish Council	143.54	7,000.00	48.77	143.37	6,000.00	41.85	(14.19%)
Urchfont Parish Council	557.57	56,331.30	101.03	563.16	58,033.64	103.05	2.00%
Warminster Town Council	6,289.58	1,338,548.00	212.82	6,387.19	1,382,830.00	216.50	1.73%
West Ashton Parish Council	230.17	8,090.48	35.15	231.17	8,368.35	36.20	2.99%
West Dean Parish Council	106.28	19,000.00	178.77	105.99	19,000.00	179.26	0.27%
West Knoyle Parish Council	70.48	4,980.00	70.66	70.08	5,400.00	77.05	9.04%
West Lavington Parish Council	507.29	34,333.00	67.68	525.93	36,483.00	69.37	2.50%
West Tisbury Parish Council	285.21	15,000.00	52.59	281.93	16,000.00		7.91%
Westbury Town Council	5,563.10	1,282,615.00	230.56	5,635.08	1,361,560.00	241.62	4.80%
Westwood Parish Council	484.62	40,000.00	82.54	480.94	45,000.00		13.36%
Whiteparish Parish Council	723.40	42,600.00	58.89	720.81	42,448.50		0.00%
Wilcot & Huish Parish Council	278.00	9,660.00	34.75	273.81	9,514.00		

		2023/24		2024/25			
							C Tax
			Council Tax			Council Tax	Increase/
Parish/Town Council	Tax Base	Precept (£)	Band D (£)	Tax Base	Precept (£)	Band D (£)	(Decrease)
Wilsford-cum-Lake Parish Council	63.60	500.00	7.86	64.00	500.00	7.81	0.00%
Wilton Town Council	1,577.79	248,833.00	157.71	1,576.78	246,000.00	156.01	(1.08%)
Wingfield Parish Council	159.57	16,841.00	105.54	165.96	16,000.00	96.41	(8.65%)
Winsley Parish Council	943.00	28,403.16	30.12	932.78	28,403.16	30.45	1.10%
Winterbourne Parish Council	573.10	28,500.00	49.73	577.26	30,000.00	51.97	4.50%
Winterbourne Stoke Parish Council	84.15	9,090.00	108.02	82.88	9,090.00	109.68	1.54%
Winterslow Parish Council	938.25	75,000.00	79.94	939.13	90,000.00	95.83	19.88%
Woodborough Parish Council	151.25	9,500.00	62.81	150.65	9,750.00	64.72	3.04%
Woodford Parish Council	236.58	7,842.63	33.15	237.02	8,485.32	35.80	7.99%
Wootton Rivers Parish Council	129.85	4,098.00	31.56	128.94	4,679.23	36.29	14.99%
Worton Parish Council	266.08	11,074.00	41.62	267.16	11,610.00	43.46	4.42%
Wylye Parish Council	212.21	8,000.00	37.70	216.58	8,000.00	36.94	(2.02%)
Yatton Keynell Parish Council	398.89	15,955.60	40.00	406.96	16,766.75	41.20	3.00%
Zeals Parish Council	281.60	5,011.00	17.79	280.43	6,247.74	22.28	25.24%
TOTAL / AVERAGE	193,142.94	30,070,950.79	155.69	194,423.87	32,726,540.10	168.33	8.12%